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	8
	Dividends and Other Nonliquidating Distributions


autonumout  (CPAN95#19) The following information pertains to Dahl Corp.:

	Accumulated earnings and profits at January 1, 2005
	$120,000

	Earnings and profits for the year ended December 31, 2005
	160,000

	Cash distributions to individual stockholders during 2005
	360,000


What is the total amount of distributions taxable as dividend income to Dahl's stockholders in 2005?         

	a.
	$0
	b.
	$160,000
	c.
	$280,000
	d.
	$360,000


autonumout   (CPAN95#20) Ridge Corp., a calendar-year C corporation, made a nonliquidating cash distribution to its shareholders of $1,000,000 with respect to its stock. At that time, Ridge's current and accumulated earnings and profits totaled $750,000 and its total paid-in capital for tax purposes was $10,000,000. Ridge had no corporate shareholders. Ridge's cash distribution

	I.
	Was taxable as $750,000 in ordinary income to its shareholders

	II.
	Reduced its shareholders' adjusted bases in Ridge stock by $250,000

	a.
	I only.   
	b.
	II only.
	c.
	Both I and II.
	d.
	Neither I nor II.


autonumout  (CPAM95#24) Kent Corp. is a calendar year, accrual basis C corporation. In 2004, Kent made a nonliquidating distribution of property with an adjusted basis of $150,000 and a fair market value of $200,000 to Reed, its sole shareholder. The following informa​tion pertains to Kent:

	Reed's basis in Kent stock at January 1, 2004 
	$600,000

	Accumulated earnings and profits at January 1, 2004 
	125,000

	Current earnings and profits for 2004
	60,000


What was taxable as dividend income to Reed for 2004?  

	a.
	$ 60,000
	b.
	$150,000
	c.
	$185,000
	d.
	$200,000  


autonumout  (CPAN94#51) Tank Corp., which had earnings and profits of $500,000, made a nonliquidating distribution of property to its shareholders in 2003 as a dividend in kind. This property, which had an adjusted basis of $20,000 and a fair market value of $30,000 at the date of distribution, did not constitute assets used in the active conduct of Tank's business. 
How much gain did Tank recognize on this distribution?

	a.
	$30,000
	b.
	$20,000
	c.
	$10,000
	d.
	$0


autonumout  (CPAM94#25)  On January 1, 2003, Kee Corp., a C corpor​ation, had a $50,000 deficit in earnings and profits. For 2003 Kee had current earnings and profits of $10,000 and made a $30,000 cash distri​bution to its stockholders. What amount of the distribution is taxable as dividend income to Kee's stockholders?

	a.
	$30,000
	b.
	$20,000
	c.
	$10,000
	d.
	$0


autonumout   (CPAM93#59) The following information pertains to Lamb Corp.:

	Accumulated earnings and profits at January 1, 2002
	$ 60,000

	Earnings and profits for the year ended December 31, 2002
	80,000

	Cash distributions to individual stockholders during 2002
	180,000


What is the total amount of distributions taxable as dividend income to Lamb's stockholders in 2002?

	a.
	$180,000  
	b.
	$140,000
	c.
	$ 80,000  
	d.
	$0


autonumout   (CPAM91#45) Nyle Corp. owned 100 shares of Beta Corp. stock that it bought in 20 for $9 per share. In 2000, when the fair market value of the Beta stock was $20 per share Nyle distributed this stock to a noncorporate shareholder. Nyle' s recognized gain on this distribution was:

	a.
	$2,000
	b.
	$1,100
	c.
	$ 900
	d.
	$0


autonumout   (CPAN88#31)  The following information pertains to Ral Corp.: 

	Accumulated earnings and profits at January 1, 1997
	$30,000

	Earnings and profits for the year ended December 31, 1997
	40,000

	Cash distributions to individual stockholders in 1997
	90,000


What is the total amount of distributions taxable as dividend income to Ral's stockholders in 1997? 

	a.
	$0
	b.
	$40,000
	c.
	$70,000
	d.
	$90,000


autonumout   (CPAM87#57) Mem Corp., which had earnings and profits of $500,000, made a nonliquidating distribution of property to its stockholders, as a dividend in kind. This property, which had an adjusted basis of $10,000 and a fair market value of $15,000 at the date of distribution, did not constitute assets used in the active conduct of Mem's business. How much gain did Mem have to recognize on this distribution?   

	a.
	$0  
	b.
	$ 5,000
	c.
	$10,000
	d.
	$15,000


autonumout   (CPAM85#27)The following information pertains to Peel Corp:

	  Accumulated earnings and profits at January 1, 2006
	$10,000

	  Earnings and profits for the year ended December 31, 2006
	8,000

	  Dividends distributed to individual shareholders during 2006
	20,000


How much of the dividends are taxable as dividend income to Peel's shareholders in 2006 before any available exclusions? 

	a.
	$8,000  
	b.
	$10,000
	c.
	$15,000
	d. 
	$18,000
	e.
	$20,000


